MVE035/600 Exercise session 5.2.

Wednesday, 17 February 2021

$$\frac{L_{asn.}}{\Delta}$$
 $a(t) = t^2 - 2t$, $y(t) = t^2 + 1t$

b) Heastinghed:
$$e^{-1}(\frac{1}{3}) = (2t-2,2t+2)\Big|_{t=\frac{1}{3}}$$

$$= (-\frac{1}{3},\frac{8}{3})$$

$$\frac{\text{Fact: } ||r'(\frac{1}{3})|| = \frac{1}{3} ||16 + 44| = \frac{185}{3} = \frac{445}{3}.$$

$$c) \quad \mathcal{L}(r) = \int_{-1}^{1} ||r'(t)|| dt = 2 \int_{-1}^{1} \sqrt{(t-1)^2 + (t+1)^2} dt$$

$$= 4 \int_{-1}^{1} \sqrt{2t^2 + 2} dt = 4\sqrt{2} \int_{-1}^{1} \sqrt{t^2 + 1} dt$$

Partialintegramy:

$$\int_{s}^{1} |t^{2}_{+1}| dt = \left[t |t^{2}_{+1}| \right]_{0}^{1} - \int_{0}^{1} t \cdot \frac{t}{|t^{2}_{+1}|} dt$$

$$= \sqrt{2}^{7} - \int_{0}^{1} (\frac{t^{2}_{+1}}{|t^{2}_{+1}|} - \frac{1}{|t^{2}_{+1}|}) dt = \sqrt{2}^{7} + \int_{0}^{1} \frac{dt}{|t^{2}_{+1}|} dt$$

$$\int_{0}^{1} \frac{dt}{|t^{2}_{+1}|} = \left\{ t = t \cos \right\} dt = \frac{d\omega}{\omega^{2}} \delta = \int_{0}^{1} \frac{\cos \omega}{\cos^{2} \omega} d\omega$$

$$(= (1 + t \cos^{2}) d\omega)$$

TT4 1

$$= \int_{0}^{1} \frac{dQ}{dx} = \begin{cases} u = \sin Q , du = \cos Q d \end{cases}$$

$$= \int_{0}^{1/\sqrt{2}} \frac{1}{\sqrt{1 - u^{2}}} \cdot \frac{du}{\sqrt{1 - u^{2}}} = \int_{0}^{1/\sqrt{2}} \frac{du}{1 - u^{2}} = \int_{0}^{1/\sqrt{2}} \frac{1}{2} \left(\frac{1}{1 + u} + \frac{1}{1 - u} \right) du = \frac{1}{2} \left[|u(1 + u) - |u(1 - u)|^{1/\sqrt{2}} \right]$$

$$= \frac{1}{2} |u(\frac{\sqrt{12} + 1}{\sqrt{12} - 1}) = |u(\frac{1 + u}{1 - u})|^{1/\sqrt{2}}$$

$$\Rightarrow \int_{0}^{1} \sqrt{t^{2}+1} dt = \frac{1}{2} \left(\sqrt{t} + \frac{1}{2} \ln \left(\frac{\sqrt{t}+1}{\sqrt{t}-1} \right) \right)$$

$$\Rightarrow \mathcal{L}(r) = \frac{1}{4\sqrt{t}} \int_{0}^{1} \sqrt{t^{2}+1} dt = 2\sqrt{t} \left(\sqrt{t} + \frac{1}{2} \ln \left(\frac{\sqrt{t}+1}{\sqrt{t}-1} \right) \right)$$

$$=4+\sqrt{2}\ln\left(\frac{N\bar{c}'+1}{V\bar{c}'-1}\right).$$

Barekun normalantill Y: >

$$\overline{\sum_{22n'}} N^{\lambda}(b) = \frac{s^2}{s^2} (\frac{1}{2}(b)) \times \frac{sf}{sf} (\frac{1}{2}(b))$$

$$P = (o_1(1)) = (1 \cdot \omega_{\frac{7}{2}}^{\frac{7}{2}} \cdot \sin_{\frac{7}{2}}^{\frac{7}{2}})^2 = f(1, \frac{\pi}{2}) \Rightarrow f(P) = (1, \frac{\pi}{2}).$$

$$\Rightarrow \mathcal{N}_{Y}(P) = \begin{pmatrix} \cos t \\ \sin t \\ \cos t \end{pmatrix} \times \begin{pmatrix} -\sin t \\ \cos t \\ \cos t \end{pmatrix} \\ = \begin{pmatrix} 0 \\ 1 \\ 2 \end{pmatrix} \times \begin{pmatrix} -\sin t \\ \cos t \\ \cos t \\ \cos t \end{pmatrix} \begin{pmatrix} \sin t \\ \cos t \\ \cos t \end{pmatrix} = \begin{pmatrix} \cos t \\ \cos t \\ \cos t \\ \cos t \end{pmatrix}$$

PAUS FILL 16:14

a) Parametrisera I m. h. c. planet.

$$\times \begin{pmatrix} \frac{\sqrt{K_{z} \cdot r_{z}}}{-S} \cos \varphi \\ \sqrt{\frac{K_{z} \cdot r_{z}}{-S}} \cos \varphi \end{pmatrix}$$

$$\times \begin{pmatrix} \sqrt{\frac{K_{z} \cdot r_{z}}{-S}} \cos \varphi \\ \sqrt{\frac{K_{z} \cdot r_{z}}{-S}} \cos \varphi \end{pmatrix}$$

$$\Rightarrow \int \sqrt{\frac{1}{2}} (\theta^{1} \cdot f) = \frac{9\theta}{3f} (\theta^{1} \cdot f) \times \frac{3f}{3f} (\theta^{1} \cdot f) = \begin{pmatrix} 0 \\ \sqrt{\frac{K_{z} \cdot r_{z}}{-S}} \cos \varphi \end{pmatrix}$$

$$=\begin{pmatrix}0\\\cos\theta\\\cos\theta\end{pmatrix}\times\begin{pmatrix}\frac{\sqrt{\mathcal{L}_{5}^{-5}s}}{-5\cos\theta}\end{pmatrix}=\begin{pmatrix}\frac{\sqrt{\mathcal{L}_{5}^{-5}s}-\sin\theta}{\sqrt{\mathcal{L}_{5}^{-5}s}\cos\theta}\end{pmatrix}$$

Areal Y) =
$$\int_{k}^{R} \int_{0}^{R} \frac{2\pi}{||N_{p}(\theta, 2)||} d\theta dz = R \int_{k}^{R} \int_{0}^{R} d\theta dz$$

$$= 2 - R(R-h)$$

$$\frac{9.4: \text{ Liet } y: [1,2] \longrightarrow \mathbb{R}^2}{4 \longmapsto (4,4^2)} \text{ och baribus}$$

$$\int_{\mathcal{T}} y \ln \frac{x^2}{y} dx - \frac{x}{y} dy.$$

$$\int_{\mathcal{T}} y \ln \frac{x^2}{y} dx - \frac{x}{y} dy.$$

$$\int_{\mathcal{J}} y \ln \frac{x^2}{y} dx - \frac{x}{y} dy.$$

Lusin $F: \mathbb{R}^2 \longrightarrow \mathbb{R}^2$, $F(x,y) = (y \ln \frac{x^2}{4}, -\frac{x}{4})$

$$= \int_{1}^{2} y^{2} dx - \frac{\pi}{y} dy = \int_{1}^{2} \langle F(x), y^{2}(t) \rangle dt$$

$$= \int_{1}^{2} \langle (\frac{1}{2} x_{1}), -\frac{1}{t} \rangle, (1, 2t) \rangle dt$$

$$= \int_{1}^{2} \langle (0, 1 - \frac{2t}{t}) \rangle dt = \int_{1}^{2} \langle -2 \rangle dt = -2$$